
1. 100 Gj;jfq;fspd; tpiy &gh 3750 MFk;. xU Gj;jfj;jpd; tpiyiaf; fhz;f.

2. ntw;Wf; fl;lq;fspy; nghUj;jkhd ,yf;fj;ij vOJf.

3. RUf;Ff.

4. 0.25I gpd;dkhf vOJf.

5. fPNo jug;gl;Ls;s cUtpd; Rw;wsitf; fhz;f.

6. ntw;wplq;fisg; G+uzg;gLj;Jf.

� fPNo jug;gl;l Kf;Nfhzpfis mtjhdpj;J 7> 8 Mk; tpdhf;fSf;F tpilaspf;f.

7. ,Urkgf;f Kf;Nfhzpay;yhj Kf;Nfhzpiaf; Fwpf;Fk; ,yf;fj;ij vOJf.

8. nrq;Nfhz Kf;Nfhzpia Fwpf;Fk; ,yf;fj;ij vOJf.

� vy;yh tpdhf;fSf;Fk; ,t; tpdhj;jhspNyNa tpilaspf;Ff. xt;nthU tpdhTf;Fk; 2

Gs;spfs; tPjk; toq;fg;gLk;.

gFjp I

,uz;lhk; jtizg; guPl;ir - 2018

tlNky; khfhzf; fy;tpj; jpizf;fsk;

ngau; /Rl;nlz;:

fzpjk; - .Ks;h
Neuk;: 2 kzpj;jpahyk;juk; : 7
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9. ntt;NtW tifahd %d;W cNyhfj;Jz;Lfis nghUj;jp mtw;wpd; ePsq;fs; x, y vd
fPNo cUtpy; fhl;lg;gl;Ls;sJ.

,jw;Nfw;g ,izf;fg;gl;l fk;gpapd; nkhj;j
ePsj;ij ml;rufzpjf; Nfhitahf vOJf.

10. gug;gsitf; fhz;f.

11. 1200 ml  jputf; fdtsit l ,y; vOJf.

12. fPNo jug;gl;l cUtpw;Nfw;g ml;ltizapy; ,ilntspf;Fg; nghUj;jkhd Neu;Nfhl;Lj;
Jz;il vOJf.

13. RUf;Ff.

14. je;ijaplKs;s gzj;jpd;   I kfDf;Fk;   I kfSf;Fk; nfhLj;jhy; ,UtUf;Fk;
toq;fpa gzk; KOg;gzj;jpd; vd;d gpd;dkhFk;?

15. gf;f ePsk; 5cm MfTs;s rJuKfpapd; fdtsitf; fhz;f.

16. x=2,  y=1  MFk; NghJ> 3x-y  ,d; ngWkhdk; fhz;f.

17. VWtupir xOq;fpy; vOJf.

18. fopf;f.
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19. Nghj;jy; xd;wpDs; fhzg;gl;l 2l Njd; ghdpia 20ml  msthd rpwpa Nghj;jy;fspy; epug;gg;gly;
Ntz;Lk;. Njitahd rpwpa Nghj;jy;fspd; vz;zpf;ifiaf; fhz;f.

20. RUf;Ff.
1
73 +  5 2

7

� Kjyhk; tpdhTf;Fk; NkYk; ehd;F tpdhf;fSf;Fk; tpilaspf;Ff.

gFjp II

1. a) ftuhaj;ijg; gad;gLj;jp fPNo fhl;lg;gl;l tl;lf;Nfhyj;ij tiuf.

(2x3=6 Gs;spfs;)

b) i) Miu 5cm MfTs;s tl;lnkhd;W tiue;J mjd; ikaj;ij O vdf; Fwpf;f.
(2 Gs;sp)

ii) tpl;lk; AB MFkhW A, B Gs;spfis tl;lj;jpd; kPJ Fwpf;f. (2 Gs;sp)
iii) OA vd;w Neu;NfhL vg;ngauhy; miof;fg;gLk;. (2 Gs;sp)
iv) tl;lj;jpd; gupjpapy; C vDk; Gs;spnahd;iwf; Fwpj;J Kf;Nfhzp  ABC I tiuf.

(2 Gs;sp)
v) ACB ,d; ngWkhdj;ij mse;J Kf;Nfhzp ABC vt;tifahd Kf;Nfhzp vd

Fwpg;gpLf. (2 Gs;sp)

2. a) xUtu; jd;dplkpUe;j fhzpapd;     gq;if kfDf;Fk;    gq;if kfSf;Fk; kPjpia
jdJ kidtpf;Fk; gfpu;e;jspj;jhu;.
i) ,U gps;isfSf;Fk; toq;fpa fhzpapd; nkhj;j msit KOf;fhzpapd; gpd;dkhfj;

jUf. (3 Gs;sp)
ii) kidtpf;Ff; fpilf;Fk; fhzpapd; msit KOf; fhzpapd; gpd;dkhfj; jUf.

(2 Gs;sp)

b) RUf;Ff.

i) (4 Gs;sp)

ii) (2 Gs;sp)
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3. a) nrt;tfnkhd;wpd; ePsk; mjd; mfyj;jpYk; ghu;f;f 5cm mjpfkhFk;.

i) nrt;tfj;jpd; mfyk; x cm vdpd;> mjd; ePsj;ij x rhu;gpy; jUf. (2 Gs;sp)

ii) nrt;tfj;jpd; Rw;wsit x  rhu;gpy; jUf. (3 Gs;sp)

b) i) RUf;Ff.

6x - 4x + 8x (3 Gs;sp)

ii) x=2, y=-3  MFk; NghJ 5x+2y ,d; ngWkhdj;ijf; fhz;f. (3 Gs;sp)

4.

cUtpy; fhl;lg;gl;Ls;sJ tpahghu epiyankhd;wpd; fpilg;glkhFk;. fl;blj;jpw;F rkJ}uj;jpy;

mikf;fg;gl;Ls;s ghJfhg;G Ntyp Gs;spf; Nfhl;bdhy; fhl;lg;gl;Ls;sJ.

i) epow;wg;gl;l gFjpapd; gug;gsitf; fhz;f. (2 Gs;sp)

ii) epow;wg;gl;l gFjpapd; gug;gsT epow;wg;glhj gug;gstpd; vj;jid klq;F MFk;?

(3 Gs;sp)

iii) ghJfhg;G Ntypapd; ePs> mfyq;fisf; fhz;f. (2 Gs;sp)

iv) ,g;ghJfhg;G Ntypf;fhf 3 tupfs; fk;gp mbf;fg;gLtjw;F Njitahd fk;gpapd; ePsj;ijf;

fhz;f.

(EiothapYf;fhf mfyg;gf;fkhf 3m Ntwhf;fg;gLk;) (4 Gs;sp)

5. a) mg;gps; gonkhd;wpd; tpiy khk;gonkhd;wpd; tpiyapYk; &gh 40 mjpfkhFk;.

i) khk;goj;jpd; tpiy &gh x vdf; nfhz;L mg;gps; goj;jpd; tpiyiaf; fhz;f.

(2 Gs;sp)

ii) khk;gok; kw;Wk; mg;gps; goq;fspd; tpiyfspd; $l;Lj;njhif &gh 80 vdpd;

mjid x ,yhd rkd;ghnlhd;wpd; %yk; fhl;Lf. (4 Gs;sp)

b) ngd;rpnyhd;wpd; tpiy &gh x ck; nfhs;tdT nra;j ngd;rpy;fspd; vz;zpf;if n

ck;> mg;ngd;rpy;fis thq;Ftjw;fhd nryT &gh T vdpd;>

i) T, x, n   njhlu;gpyhd #j;jpuj;jpunkhd;iw vOJf. (2 Gs;sp)

ii) x=5, n=8  vdpd;> T ,d; ngWkhdj;ijf; fhz;f. (2 Gs;sp)
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Grade 7 :- Maths.............
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6. a) Fwpj;j jpdnkhd;wpy; ghy; Nrfupg;G epiyankhd;wpw;F 30 tptrhapfspdhy; nfhz;L

tug;gl;l ghypd; msTfs; ml;ltizapy; jug;gl;Ls;sd.

(6 Gs;sp)

tptrhapfspdhy; nfhz;L tug;gl;l ghypd; nkhj;j msitf; fhz;f.

b)

i) NkNy jug;gl;l jpz;kq;fspd; fztsTfis jdpj;jdpNa fhz;f. (2 Gs;sp)

ii) mtw;wpd; fdtsTfs; njhlu;ghf ckJ fUj;ij vOJf. (2 Gs;sp)

7. a) Fwpj;j tpahghu epiyankhd;wpy; ghu;itf;F itf;fg;gl;bUe;j tpiyg;gl;bay; fPNo

fhll;g;gl;Ls;sJ.

nghUl;fs;   xd;wpd; tpiy (&gh)

40 gf;f gapw;rpf; nfhg;gp   32.50

120 gf;f gapw;rpf; nfhg;gp   53.25

n[yptifg; Ngid   13.00

rhjhuzg; Ngid    9.80

,t;tpahghu epiyaj;jpy; thbf;ifahsu; xUtuhy; nfhs;tdT nra;ag;gl;l nghUl;

gl;bay; fPNo fhl;lg;gl;Ls;sJ.

40 gf;f gapw;rpf; nfhg;gp 10

120 gf;f gapw;rpf; nfhg;gp 5

n[yp tifg; Ngid 2

rhjhuz Ngid 3

,t;thbf;ifhahsu; tpahghu epiyaj;jpw;Fr; nrYj;j Ntz;ba nkhj;jg; gzj;ijf;

fhz;f. (5 Gs;sp)

b) i)     I jrk vz;zhf vOJf. (2 Gs;sp)

ii) RUf;Ff.

5.6 ÷ 4 (2 Gs;sp)

6.023 x 100 (1 Gs;sp)
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